@ RapidLED

Full Canopy Substrate Instructions

Parts List:

e Side Bracket x 6 *Nutx 18
el arge End cap x 2 * Hanging Kit x 1 (Optional)
* Rail x 2

* M3 Screw x 22
* M4 Screw x 4

1. Attach one large end cap to two rails. It's easiest to begin
with the larger bottom holes first using M4 screws. Once con-
nected, attach two M3 screws to the two smaller top holes.

2. Attach a side bracket to each small end cap on the exist-
ing rails you have built previously. Use three M3 screws and
nuts per side. Note the orientation of the bracket in the pic-
ture.




@ RapidLED

3. Insert the side brackets you have just connected into the
slots on both rails. It’s often easier to do this with someone
holding the larger frame in place.

4. Attach the opposite large end cap in the same manner as
step 1.

5. If you are not using our hanging kit please skip this step.

Insert one clip into each open hole on the large end cap. Fas-
ten the opposite end to your canopy or ceiling securely using

the included screws and anchors.




